SOAL PENJUMLAHAN 1-10

Lengkapi kotak dengan hasil penjumlahan

+ 2 = 6 + 3 =
+ 1 = 4 + 3 =
+ 2 = 3 + 5 =
+ 6 = 5+ 1 =
+ 4 = O + 4 =
+ 1 = 2 + 5 =
+ 2 = 2 + 4 =
+ 1 = 7 + 2 =
+ 1 = 8 + 1 =
+ 3 = 4 + 3 =
+ 3 = 1 + 4 =
+ 4 = 2 + 7 =

Nilai
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Dapatkan soal dan ringkasan materi gratis di www.lembarsoal.com
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6+2=8
6+3=9
5+1=6
3+1=4
4+3=7
9+1=10
6+2=8
3+5=8

.3+2=5

1+6=7
5+1=6
8+1=9
1+4=5
5+4=9
9+1=10
8+1=9
2+5=7
4+5=9
7+2=9
2+4=6
3+6=9
9+1=10
7+2=9
7+1=8
8+1=9
8§+1=9
4+1=5
1+3=4
4+3=7
2+1=3

31.6+3=9
32.1+4=5
33.9+1=10
34.5+4=9
35.2+7=9
36.7+2=9



